KB FF o RENFE T 5 B ¥

TR25%10878 (A)

® Bl |EEKEM| AEkEN| MIkEM] & & —
W % M E ke | 90900 9700  47,900] 148,500 B R &
* B & B ?kg% B g %(‘EH?)‘E r n E
(Ef/KEWY)
(BECH
=hF 1.100] ke 1680 =] 210 AoF%ro7
HL 100[ ke 120 1] 315 1| &8 fo
N 2050|  Tke 630 1| 346 1| =0 f
F0bL 1.090] ke 51 210 1] =2 fe
hE 17,890 ke 1176 =| 420 1| @@ fo
£y 2.250] ke 115 = 577 || &a ZE
EREEO 10,000 ke 1,365 | o || mm =&
=h5 3.530| ke 1.060 L[| 683 1| &Il BF o
PR 1.220] ke 5250 1] 168 || =3 *xE fe
EREEE 2170 ke 1,155 1| 609 1| &% =& o
ERAALE 2.830] ke 2200 1] 721 1| B8N BE f
FHHLA 8 250| ke 504 1| 346 1| tmE fe
T 50| ke 1155 1| 630 -] =& fo
=7 o[ ke 1522 | 152 | /o=
2 <Y 1.150] ke 1,366 1| 126 || T% +@
By 2,490 ke 2100 1] 420 1| e =@ fe
e 20| Tke 3990 5| 693 1| BN =& f
(A HEKED)
AEL AT 50| ke 2000 =] 57 ] =avs @
AT 1.500]  Tke 05 = 14| Tava f
ARG 1.900] ke 2951 1| 997 #m 1oF &
(M KEM)
e 1.200] ke 05 =] 355 TE
e 20|  Tke 525 = 525 o dmE fe
BT IZT5C 1.050] ke 2200 5| 1,208 ] dmE Ao7
BEAE 3.720|  Tke 630 = 346 1| LmE f
TESyyE 1.360] ke 1,470 5| 357 || mE fo
BATHL 00| Tke 1,024 1| 241 || &8 455
E¥rhi 500 Tke 1890 1| 53 || B® o
EUBA 2500] Tke 2310 1| 420 || =@
nf-C
GE) 1. CORE. T2 BREEHOLOTY,

2. HRIE L TRES) TRA (BES) B O5BETT.

EEL. Eb020SNEAE [E5E5] & LTLET,
3. WEOEOXE. MBS BROMSE L LE L EHEERLTOES, 2L, HACKRE)

AEMot=, BB EBUNELGSEHERIFIEME LTLET,




